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JERRH R X 1 49, 394, 381
HEELT = 1 7,563, 285
HRHEI T m3 1 643,133 | #EH! 1, 090 m3
LY A7 iy b FRLE PEEME 5, 000m3AH ;
A 310 m3
T/ FrEidRE
BEARRE AT = 1 6, 254, 048 | B&{A (SLt2) hE 1+ 330 m3
2. 5mAT ;
EuNE R 200 m3
2. 5mPh 4. OmASTw ;
EuNE R 1, 870 m3
4. 0mPL E
A5k 1 X
Rkt A = 1 666, 104 | IEHEFETE (8] 156) 240 m2
BRI v+ R O + kit
LRI (B 1350) 1, 300 m2
T i S O I BRI
IR = 1 1, 834, 260
fliAE T = 1 1,834, 260 |HEAy | 240 m2
WAy b T 250m2oRT  MBHSA) ;
ANTHEZ 1, 300 m2
U7 FE1kL)
EEEET = 1 6, 525, 140
TA7 7 Ml T X 1 6,525, 140 | T/E &ML (HaE - BRIE ) 2,070 m2
(B H)
FEITyYr77 RC-40 A VW E 150mm ;
g (I - BIF ) 2,020 m2
AR EET A2 (20) &H%EE 50mm 3. Omid ;
-7 my)FE (3R T = 1 19, 181, 235
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BT = 1 653, 147

VIR VAR YR N EVZA I VAR PYZ ) =Y 1 18, 528, 088 | BItE T HeptEay /) -} 116 m
(1=av ) =17 ny ) FE458)
18-8-40 (B J7) JEEHE 55cm B S 35¢m ;

BT HeAfavy)-h 26 m
(2F7av))=17" ny) FEH5E)
18-8-40 (B J7) JEEHE 52cm B S 30cm ;

/) =h (R%0) 77 ny ) il 424 m2
(152v))=}47" ny)58)
£ 2 35cm

avy )= (1) 77 ny )i 50 m2
(2Fav))=}7" ny)5E)
£ 2 35cm

PR 114 m
(15 Rgavy)-h)
I®86. 2¢cm ;

Ky —p 27 m
(25 Riavy)-h)
T®80. 8cm ;

HEKHEY) T Y 1 8, 788,971

BT = 1 473,115

AR T = 1 7,570,286 |7 V¥¢ANUBLAITE 428 m
(PU3-B300-H300)

7" Vv A NUBRMAITE: 82 m
(PU3-B500-H500)

7" Vv A NUBRMAITE: 9 m
(157" VA MUTRURITE)

7" Vv A NUBRMAITE: 4 m
(257" VR A NUTRURITE)

7" Vv A NUBRMAITE: 28 m
(357" VA bUTRUAITE)
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M 9 bi'e
v #EH)
T-25 B300A L1000 i H & VMEE ;

M 4 bi'e
v &)
T-25 B500FH L1000 i H & VMEE ;

AR v T 2 1 745,570 | BLGHFT B IEE 5 (£
(15 IR
BUSHTHAT 18-8-40 i) 1hmfEEMIEEE ;

BUGHT B IR 3 & AT
(25 IR
BUSHTHAT 18-8-40 i) 1hmfEEMIEEE ;

ES 5 &
v &)
T-25 500X 500 W H £ VHEE ;

ES 3 &
v &)
T-25 700X 700 W H & VMEE ;

B T = 1 1, 436, 400
ERARI I A T =X 1 1,436,400 |4 =} VW 140 m
BN Gr-C—4F 100mLh = ARSI IEAE ;
A Y 1 4,065, 090
K T Y 1 2,517,750 |WFIEHEKE 1 =
+m 9 1 =
AEEHT Y 1 1,547,340 | AZ1@FHEZHE S 1 =
B (Bff)
[ERANE Xy = 1 49, 394, 381
IR 2 1 5, 867, 000
BISTI S = 1 558, 000
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BUGBREIUEL (REH L) 2V 558, 000
sty (R L) 2V 5, 309, 000
ol T X 55, 261, 381
e R 2V 17, 794, 000
T AT X 73, 055, 381
— e PR 2V 13,014, 619
Tk X 86, 070, 000
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